Areas B-1, B-2, B-3 and B-4
	B-1
	
	B-2
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The area to the east of Erliquin can be teleported to, or it can be reached through the hidden slides in the two castles. Once there, you can't really get back at low level, except by running away from a fight.
1.  Entrance to Erliquin.
1. Castle Blackridge, East.
1. Castle Blackridge, North.
1. The gates to another world.
1. Second entrance to the Erliquin Vault. The first is from within Erliquin.
1. Wizard's Lair.
1. Chest, contains Silver Key for the Silver Door in B-2, Raven's Lair.
The red areas are where it's unsafe to rest. The dark red areas are where you also can't cast spells.
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1. The ice princess, with a riddle. The answer is Love. The reward is the Diamond Key.
1. This is where you end up if you provide the wrong answer.
1. Carved on a tree: "9-9 Raven's Lair"
1. Medusa's Lair.
1. Raven's Lair, the Warrior's Stronghold.
The two special encounters are with a dark knight to the north, and a lich to the south. The red area is too dangerous to rest in.
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You need to walk on water in order to get to Blithes Peak, which is part of a quest. The enchanted forest is too dangerous to rest, which is marked red.
A. Portsmith
B. Korin Bluffs Cave, portals to all castles and towns.
C. Castle White Wolf, Lord Ironfist
D. Minotaur Stronghold in the Enchanted Forest. Needs Ruby Whistle to enter, from the main quest line.
E. Blithes Peak, lookout point.
F. Teleports to Blithes Peak
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1. Pulling this gives a free trivia chance at the trivia island.
1. The pirate captain and his followers. 
1. The trivia island. Each of these tiles asks you a question. Correct answer gives you 50 gems.
Questions?
Who rules castle W.W.? Lord Ironfist
Who is the voluptuous one? Lara
Who's lost sight? Og
Where's the very latest? Current Trends
Who be ye? I be me
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